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CNCC-2 : ORGANIZING CHILD CARE SERVICES

Time : 3 hours Maximum Marks : 100

Note: Question no. 1 is compulsory. Answer any
four questions from the remaining.

1. The following is the schedule of activities for one
day planned by a preschool teacher for her group
of 25 children of 3% years of age :

Time Activity
Children arrive, welcome,
9:00 a.m. — 9-30 a.m. prayer and singing some
rhymes.

Outdoor free play — children
play using outdoor equipment
such as slide and swings as per
their preference.

9-30 a.m. — 10:00 a.m.

Indoor free play — children play
10:00 a.m. — 10-30 a.m. |with blocks, puzzle sets and
beads as per their preference.
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10-30 a.m. — 11:00 a.m. |Snacks break

11:00 a.m. — 11-30 a.m.

Outdoor structured play —
teacher plans a game of

running and touching a tree
and children play accordingly.

preference.

Indoor free play — children play
11-30 a.m. — 12:00 noon |with play materials as per

12:00 noon — 12-30 p.m. |Children prepare to leave

Is the schedule of activities appropriate ? Give
detailed reasons. If you do not find the schedule

appropriate, suggest modifications and give

justification for the same.

2. (a)

(b)

3. (a)

(b)
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How does play foster children’s emotional
development ? Explain with examples.

Explain five aspects that you will keep in
mind when selecting play materials for
infants, toddlers and preschoolers in a
centre.

A preschool teacher wants to plan activities
to help children develop the concept of
‘shape’. State five suggestions that you will
give her to plan these activities.

Explain what is meant by the term
‘conservation’, giving an example. Why do
preschool children have difficulty in
conserving ?

20
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10

10

5+5



4. (a) Describe four aspects of parent’s
child-rearing practices that lead to

aggressive behaviour in children. 10

(b) Explain what is ‘attachment’. Discuss its

importance for the child. 5+5

5. (a) How does storytelling contribute to
children’s development ? Explain giving five

different examples. 10

(b) “If a child’s drawing does not make sense to
the adult, it is useless.” Do you agree with
this statement ? Give detailed reasons for

your answer. 10

6. Suggest one play activity each for the
development of the following : 4x5=20

(a) Language abilities of 3-year-olds
(b) Fine motor skills of 2-year-olds
(c) Concept of size in 5-year-olds

(d) Reasoning skills of 4-year-olds
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7. Describe any two of the following : 2x10=20

(a)

(b)

(c)

(d)
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Meaning of self-concept and its various

aspects

Indoor space arrangement in a preschool

classroom

One method of assessing children’s progress

Stages of language development during the

first year
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